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A car accelerates from rest at a constant rate « for some time after which it decelerates at a
constant rate [3 to come to rest. If the total time elapsed is t seconds, the total distance
travelled is :
Options :

2« B 2

(a + B)

8643519721.

o 3
2(c + B)

t2

8643519722.

"4ap
(e + B)

tl

8643519723.

o B 2

8643519724, * @t B)

Question Number : 1 Question Id : 8643513241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TF FR ‘o’ F1 90 =2 4 F8 I94 F fau faumaen 9 @fE 36 810 8 999 uvEr #1°p7 #
o == 4 wfed 2t g faum sraeen # on 9t €1 4fE o o 99g v A0 €, o Fell T Fid 5l

-

Bl :
Options :

" 2ap 2
8643519721, (@ + B)

. o 3 +2
8643519722, 2(e + B)

4o P 2
8643519723, (@ + B)

b
& 2

8643519724, Tl T PB)

Question Number : 2 Question Id : 8643513242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

A modern grand - prix racing car of mass m is travelling on a flat track in a circular arc of

radius R with a speed v. If the coefficient of static friction between the tyres and the track is

IL,, then the magnitude of negative lift F; acting downwards on the car is : (Assume forces on

the four tyres are identical and g=acceleration due to gravity)

i

Options :

8643519725. -

Ii'z

m{ g =
8643519726. G

8643519727.

i)
m| g R W
JL
8643519728. \ b

Question Number : 2 Question Id : 8643513242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T A Tie- T I SR 99 25999 m 8, UF 9Had U9 W, UF gAER 909 Taast e
R ¥ % srfew =1e ‘o’ | fa @ ¥ afs T o vy o v, wifas S e w1 A 8, @
FHR W AE H WF @M A1l Ffed ferre F #1 9iEm 8 (A 91 2Rl W e 91 99 96E
2 ¥R g=TFE ™ = E) |

T

Options :

02
m{ I :,_-T_W
g R

)
m| g

8643519726, -
I?'z

m( = ET'W

8643519727, \HMs J

( - 1
m| g
e R ]

8643519728. \

8643519725.

Question Number : 3 Question Id : 8643513243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Carnot’s engine working between 400 K and 800 K has a work output of 1200 | per cycle.
The amount of heat energy supplied to the engine from the source in each cycle is :

Options :

8643519729. S

8643519730, 1600 ]
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2
8643519731. 5200 ]

8643519732. 1500 ]

Question Number : 3 Question Id : 8643513243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T T S 911400 K 377 800 K & #eA %1d &2 T&1 € &l 797d &1 1200 | per cycle €| Fa ¥ oM
T YT 9% & SR o TS S S FOHA B

Options :

",
8643519729. 2400 ]

8643519730, 1600 ]

32
8643519731. - s

1800 ]
8643519732.

Question Number : 4 Question Id : 8643513244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A solenoid of 1000 turns per metre has a core with relative permeahﬂit}f 500. Insulated
windings of the solenoid carry an electric current of 5 A. The magnetic flux density produced

by the solenoid is : (permeability of free space =47 x10~7 H/m)

Options :
4
8643519733, 10w T
3
8643519734, 2* 107 w T
S
8643519735, °
8643519736,

Question Number : 4 Question Id : 8643513244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

W 1000 T Wi Hiex 9l TRt % HR w1 WAiEd I 500 ¥ 1 9o & faerd wE
T 5 A FI YR YaIed el €1 Ui g1 Se0= T Y e 1 0 € (g SR
TRl =47 %107 H/m)
Options :

104 T
8643519733,

3 3
8643519734, 2 <10 " T

w| =

8643519735.

8643519736, T |

Question Number : 5 Question Id : 8643513245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A current of 10 A exists in a wire of crosssectional area of 5 mm? with a drift velocity of

2x107 3 ms 1. The number of free electrons in each cubic meter of the wire is
Options :
2
8643519737, 2% 10

23
8643519738, 1 <10

: 25
8643519739, 025 % 10

25
8643519740, 2> 10

Question Number : 5 Question Id : 8643513245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T TR foa®l T F12 F 89%c 5 mm?2 T T 10 A F1 9 Jaifed & Wi &1 991 571 H1 76

2% 10~ 3ms~ 1281 AR ¥ 9id =9 92X § g sorggEl & 9e= & |
Options :
8643519737, 2> 10°
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23
8643519738, L <10

- o |
8643519739, 625 %10

8643519740, 2 % 107

Question Number : 6 Question Id : 8643513246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A mass M hangs on a massless rod of length [ which rotates at a constant angular frequency.
The mass M moves with steady speed in a circular path of constant radius. Assume that the
system is in steady circular motion with constant angular velocity w. The angular momentum
of M about point A is L , which lies in the positive z direction and the angular momentum of
M about point B is L. The correct statement for this system is :

Options :

L, and Ly are both constant in magnitude and direction
8643519741.

2643519742, L4 is constant, both in magnitude and direction

L. is constant, both in maenitude and direction
8643519743, B &

Ly is constant in direction with varying magnitude
8643519744, ’

Question Number : 6 Question Id : 8643513246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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M E=99 1 1% Tave fadt gemerfea qon] o= 1 92 o U foa Sl g aam @ 2 9
TR T FHEA M U Taa e F guer 99 W fa el 9 9 @ g 9fe 9 5 e fw
faen u frad Fia 57 o 9 7o garer a3 @, fag A T R0 He 6 AE Ly ® o
T 2 faen 9 & qen fag B Fofa W M AM L B 59 e F o e e w8 B2

\ ;
Options :
L, ¥R L, 3F %1 wfmm i fan froa @
8643519741.

8643510742, Loa FT &, ST SR feam 3l 3 fem

8643519743, L8 10 &, uftamr SR fewm SFi F fag

L. faagfems TSTd IHEHTT F H1Y
8643519744, B g ferg,

Question Number : 7 Question Id : 8643513247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An AC current is given by [=1, sinwt+ I, coswt. A hot wire ammeter will give a reading :
Options :
L+ 1

8643519745. V2

L+ 1
242

8643519746.
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= /]
\,I] | Iz
8643519747. 2
' 2 _ 12
Iy — 13
8643519748, i~

Question Number : 7 Question Id : 8643513247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TF FAET G/ H A (=1 sinot + 1, cosot § T T T T T TR URE, 9 F IEAH

-

<l
Options :

8643519745, 2

8643519746, 2V2

[ 2 2

2
8643519747. "

8643519748.

Question Number : 8 Question Id : 8643513248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A polyatomic ideal gas has 24 vibrational modes. What is the value of v ?

Options :
8643519749, 10-3

8643519750, 120

8643519751, 1-03

8643519752, 1:37
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Question Number : 8 Question Id : 8643513248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T GRS A T F U FHAASE yFAAE
Options :

8643519749, 10-3
8643519750, 1-30

8643519751, 1.03

8643519752, 137

Question Number : 9 Question Id : 8643513249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When two soap bubbles of radii a and b (b > a) coalesce, the radius of curvature of common

surface is :

Options :

8643519753.

8643519754.

8643519755.

8643519756.

Question Number : 9 Question Id : 8643513249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T4 HeA F 21 goidel Tt A a 3Rb (b > a) ¥, Helld 81 €, ol SHAS IR I i e

\

B :
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Options :
ab
b—a

8643519753.

ab
8643519754, a + b

b—a
8643519755, ab

a+ b
8643519756, ab

Question Number : 10 Question Id : 8643513250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A triangular plate is shown. Aforce F = 4 .z"' “’.; is applied at point P. The torque at point

P with respect to point ‘O" and ‘Q’ are :

Ya

» X
Options :
7
0643519757 — 15 — 2043, 15 — 203
8643519758, 15 + 2033, 15— 203

8643519750, 15 — 2073, 15 + 20,3

8643519760, — 13 + 2033, 15 + 2043
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Question Number : 10 Question Id : 8643513250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A T ueh YR w2 & femm T ¥ Plag W umad F = 47 — 3 AW faen e g

g O R Q ¥ |el P R &7H =Tel 98 AU o | 2

YA

> X
O
e——-10 n:m;!-iQ

Options :

8643519757, — 15 — 2043, 15— 2043
8643519758. 15 + 2043, 15 — 2043
8643519759, 15 — 2043, 15 + 2043

8643519760 —15 + 20y/3, 15 + 203

Question Number : 11 Question Id : 8643513251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two identical metal wires of thermal conductivities K, and K, respectively are connected in
series. The effective thermal conductivity of the combination is :
Options :
Ky Ko

Ky + K»
8643519761.
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2Ky Ks

K, + K»

8643519762,

K; + Ky

TremT e

8643519763, 112
Ky + K

8643519764, 1 K2

Question Number : 11 Question Id : 8643513251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
< gHA wifae ARl w6 et S Fesd FA9: K, SR K, 8 F Aitshd | e T # s|
THIETSH 1 9T S FIerwal H A ©

Options :
SRS
K1+ K>
8643519761.
2K Ko

8643519762, 1 1 K2

8643519763, -1 K2
Kp + Ky

8643519764, SR

Question Number : 12 Question Id : 8643513252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A lm}-' is rollf_t‘lg a .5 kg ball on the fricionless floor with the speed of 20 ms 1. The ball gets
deflected by an obstacle on the way. After deflection it moves with 5% of its initial kinetic

energy. What is the speed of the ball now ?
Options :

8643519765, 1.00 ms ™!

i 1
8643519766, T+ mS
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] 1
8643519767, 1441 ms

1
8643519768, 19-0 ms

Question Number : 12 Question Id : 8643513252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

foredt @2 3 U =HvRfEd W W 0.5 kg FI g B 20 ms 1 H A F e faw 71 g v G
AU F FRO fged 6t 21 Toedd F 99 T8 A9 AR fast St % 5% 9 % =@ i
el 1 59 feafa 3 ¥ #1 =0 2

Options :

1
8643519765, 1.00 ms

A AT 1
8643519766, +-47 ms

1
8643519767, 1441 ms

8643519768, 19.0 ms !

Question Number : 13 Question Id : 8643513253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The thickness at the centre of a plano convex lens is 3 mm and the diameter is 6 cm.  If the
speed of light in the material of the lens is 2x10% ms ~!. The focal length of the lens is

Options :

8643519769, ~U ¢m

8643519770, 19 cm

8643519771, 1> cm

8643519772, 0-30 cm

Question Number : 13 Question Id : 8643513253 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TF U @8 F F2 T THFH HEE 3 mm I =AME6 cm 21 Ife 19 F 9219 H, TH19 F 77

2x108 ms~ 1%, A oim H WA AN |

Options :
8643519769, 20 cm

8643519770, 15 cm

8643519771, 1-2 ¢m

8643519772, 0-30 cm

Question Number : 14 Question Id : 8643513254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which level of the single ionized carbon has the same energy as the ground state energy of

h}-‘dmgen atom ?

Options :

[==1

8643519773.

.

8643519774.

=

8643519775.

8643519776.

Question Number : 14 Question Id : 8643513254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TFHe AAG FeA 6 (HH T Tl S, SESre T & e w1 Fel & 90aw v 2
Options :

8643519773. 1

8643519774. *

8643519775, ©
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8643519776, &

Question Number : 15 Question Id : 8643513255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two ideal polyatomic gases at temperatures T 1 and T2 are mixed so that there is no loss of

energy. If F; and F,, my and m,, n; and n, be the degrees of freedom, masses, number of

molecules of the first and second gas respectively, the temperature of mixture of these two

gases 1s

Options :

.I'I lFl Tl { I'IzeTz
8643519777 o B

: n IFITI { I'IzeTz
8643519778, F+K

: 1 ]_F]_ Tl { ﬂzeTz
8643519779,  MF1 1+ naok

. n lTl F 1 sz

{

8643519780, 1 ' M2

Question Number : 15 Question Id : 8643513255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 AT A2 1, f57F 9T, SR T, ¥, F 59 ER e g, feed R wwn w5 .
F1 FH TE g afg F, -ﬁ?Fzrml -35ﬁ'{m2,111 3ﬁ111235w: o 3R fgda 1w % foau, ==
Fifesti, F=mmT SR STusi +1 Jen g, @ 16 F g = g 2o

Options :

ny F1 T1 F n EFETE
8643519777. n; +ny

ny FlT1 [ nzeTz
8643519778. F+5K

'anl T1 [ nzFZTZ
8643519779, Mif1 t nakp
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nyT; + n,Ty

8643519780, ™ T M2

Question Number : 16 Question Id : 8643513256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For what value of displacement the kinetic energy and potential energy of a simple harmonic

oscillation become oqual s

Options :
8643519781, = T A
8643519782, ¥ =0
& p— + ‘%
B =
8643519783. V2
A
x= =
8643519784 *

Question Number : 16 Question Id : 8643513256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o & foFm wm % o, W smmad oifa § faw 3=t oiR frafas s 3 99 == 2 2
Options :

8643519781, ¥ = T A

8643519782, X =0
A
8643519783, V2
A
=
2

8643519784.

Question Number : 17 Question Id : 8643513257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The output of the given combination gates represents :

A

B

Options :
8643519785, AND Gate

8643519786, [VOR Gate

8643519787, VAND Gate

8643519788, \OR Gate

Question Number : 17 Question Id : 8643513257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fau Tu i F wAeE w1 i, R e a1 vefvia w2

A

B

Options :

8643519785, AND Gate

8643519786, NOR Gate

8643519787, VAND Gate

8643519788, NOR Gate

Question Number : 18 Question Id : 8643513258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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An electron of mass mand a phntnn have same energy E. The ratio of wavelength of electron

to that of photon is : (c being the velocity of light)

Options :

[ E \.|1-'2

=
8643519789, -/

- (2ZmE ]'1'3.
8643519790, =

1 { 2m Té
8643519791. “ ° E )

1 ( E ‘~|‘-“2
8643519792, € \2mJ

Question Number : 18 Question Id : 8643513258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
m E9HM F UF Tolae A7 FRA F1 99F T E €1 SoEeH SR WA F ailes #1 S9d

=

AR
Options :

LTE

8643519789. f 2m )

1/
8643519790, € (2mE)™

1 [EmTﬁ
8643519791, ¢ L E J

1/

IILW

8643519792, € \2m )

Question Number : 19 Question Id : 8643513259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The vernier scale used for measurement has a positive zero error of 0.2 mm. If while taking
a measurement it was noted that ‘0" on the vernier scale lies between 8.5 cm and B.6 cm,
vernier coincidence is 6, then the correct value of measurement is cm.

(least count=0.01 cm)
Options :

8643519793, 5-28 cm

8643519794, 506 cm

8643519795, 504 cm

8643519796, 530 cm

Question Number : 19 Question Id : 8643513259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A % fau wdm fFu 7o, afi T9M § 0.2 mm F SAeE g0 32 €1 39 S 994, 98 <
T o A 9 W 307 8.5 cm SR 8.6 cm F A ¥ AR S 6 91 39 HUwT g, 91 9O
=1 &l 9H cm B ( SAeTaHqi®=0.01 cm)

Options :

8643519793, 508 cm

8643519794, 506 cm

8643519795, 5-24 cm

8643519796, S0 cm

Question Number : 20 Question Id : 8643513260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f an electron is moving in the nth orbit of the hydrogen atom, then its velocity (v,) for the nth
orbit is given as :

Options :

2
8643519797, n 1

20/87
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AR ¢
8643519798. "

8643519799.

8643519800.

Question Number : 20 Question Id : 8643513260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Afz I Terae, ASSeA TAY F oth Fa H a0 F W@ E, 7@ oth F F HEF T4 (0,)

=

B0 ;
Options :
= 2
8643519797, ‘n 1
8643519798, 'n 1
1
IJI‘I oC 3
8643519799. n
1

8643519800. & N

Physics Section B

Section Id : 864351218
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351218
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643513261 Question Type : SA

21/87



3/17/2021
Correct Marks : 4 Wrong Marks : 0

For VHF signal broadcasting, km? of maximum service area will be covered by

an antenna tower of height 30 m, if the receiving antenna is placed at ground. Let radius of
the earth be 6400 km. (Round off to the Nearest Integer) (Take 7 as 3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643513261 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

VHF e 9999 & fau 93 fu U 30 m =% 9 ufe 2 gr km?2 =
SAfesRaA |9 wfa Fwag 2, afs 9@l ufe &1 9fF 9 T S 9=l S 5 6400 km S0
(feeam quis® ) (w=23.14)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643513262 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If 2.5x 10 ~® N average force is exerted by a light wave on a non - reflecting surface of 30 cm?

area during 40 minutes of time span, the energy flux of light just before it falls on the surface

is W/cm?. (Round off to the Nearest Integer)

(Assume complete absorption and normal incidence conditions are there)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643513262 Question Type : SA

22/87
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Correct Marks : 4 Wrong Marks : 0

Afg TF AARETGd 9, TTHFH ST 30 cm2 & W 40 972 9% 2.5 106 N &1 350 =9, T
T g AT 21 €, o 9 T Y ¥ 9=, YR F Fell Goed W/ cm2 2 |
(FreFeam g )

(=2l Yot 9T R SAfersEd e & fEfadl ®1 9 T e)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643513263 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Four identical rectangular plates with length, I=2 cm and breadth, b = cm are arranged

3
3

g i ) . XE !
as shown in [ igure. The equwalent capacitance between A and Cis —2 . The value of x is

. (Round off to the Nearest Integer)

d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643513263 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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for ¥ famTe AR, SR 99 AR wﬁﬁaﬁrmﬁm@;=zmaﬁzam_“h=§m%

mﬁﬂﬁﬁTﬂTW%’IA-ﬁIC%ﬁqwa@mﬁ?ﬂﬂﬁﬁ?%lﬂﬁxﬂﬂﬁ @
(Fereas quis )
A |B C |D
-'(—I'l-l—!“(—l'l
d  d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643513264 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equivalent resistance of series combination of two resistors is‘s’. When they are connected
in parallel, the equivalent resistance is ‘p’. If s=np, then the minimum value for n is
(Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643513264 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

31 wfedisdi 1 AoiishH HaTeE H god Wiy s’ ¥ 1 5" T Uvd § el i g, @ ge el p’ 7
afgs =np &, T n F FF79 9H g (s quis H)

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643513265 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A parallel plate capacitor whose capacitance C is 14 pF is charged by a battery to a potential
difference V=12 V between its plates. The charging battery is now disconnected and a
porcelin plate with k=7 is inserted between the plates, then the plate would oscillate back

and forth between the plates with a constant mechanical energy of pl.

(Assume no friction)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643513265 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T I w12 Hefs foant aiftdn (O) 14 pF € #1 U 94241 4, %@ & 79 V=12 V fav@Eid 7%

AT Toa ST € 1 274 S o 22 U UThied F1 w2 (k= 7) 1 @3 % e TE T, 9wl
p] =i T A =1 & | w2 & 99 AM-9 Sed H o |

(|1 7T & o g =eor = 2)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643513266 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The radius in kilometer to which the present radius of earth (R =6400 km) to be compressed

so that the escape velocity is increased 10 times is
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643513266 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

geal T Fa9[ 5 (R=6400 km) &1
10 71 9% 1Y |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643513267 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The angular speed of truck wheel is increased from 900 rpm to 2460 rpm in 26 seconds. The

number of revolutions by the truck engine during this time is
(Assuming the acceleration to be uniform).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643513267 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2o % TfeT 1 FIUTF =1 F 900 rpm H 2460 rpm T 26 YHUE | Fe@ T &1 TH IHA H F

FeoR g U fFu MU iRl it H@w @i
(| TN 2 T =Rt ®)

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643513268 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider two identical springs each of spring constant k and neg]igible mass cnmpared to

the mass M as shown. Fig. 1 shows one of them and Fig. 2 shows their series combination.

The ratios of time period of oscillation of the two SHM is TET = \.I"I , where value of x is
/ d

(Round off to the Nearest Integer)

LA ALY

0000C
00000

=
=
00000

Fig 1

Fig 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643513268 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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21 T o 9 e o feries k 3R 2=mm fave M 3 g=99 1 9o § S9emia T
2 1 Toot o femman mn €1 fo=1 1 5w =1 famamn @ oii fo= 2 6 <H1 % Sofism "o =01 faamn

Fy

W%’lwaﬁﬁnﬁlaﬂﬁﬁ:ﬁ%ﬁmﬁaﬁerﬁ = Jx ¥ FE x FHA
- d
g (Feream quis )

LEEEEEI R LR AL S

il o
= —
— i
e
Ta Tb
=
=1
= 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513269 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The following bodies,

(1) aring
(2) adisc
(3) asolid cylinder

)
(4) asolid sphere,
of same mass ‘'m’ and radius ‘R’ are allowed to roll down without slipping simultaneously

from the top of the inclined plane. The body which will reach first at the bottom of the
inclined plane is

[Mark the body as per their respective numbering given in the question]

0 "

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513269 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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FrefaiEa e,

() T

2 fe=

(3) 2™ =
(4) =M™ Ten

T Z=7M (m) T8 Bt (R) 9M € fFelt o 9 ) o 91y fo el e w 1 9% fave
S A Tl % el qel WO HEwes AT zl
(Tavsi =1 37 fou 7u 9 H sifeq =2, SO & = o fem @ 21

B N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643513270 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two blocks (m=0.5 kg and M=4.5 kg) are arranged on a horizontal frictionless table as

shown in figure. The coefficient of static friction between the two blocks is —. Then the
K

maximum horizontal force that can be applied on the larger block so that the blocks move

together is N. (Round off to the Nearest Integer) [Take g as 9.8 ms 7]
m
F
W%l —

L . B
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643513270 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 ISl (m=0.5 kg FXM =4.5 kg) 1 Tt Afas ToEH a0 W =T fFmn = g (S
Ao H fe@Am T g) | amma$quﬁ1ﬁ$ww?%l T J2 T9Ue 9 AR SAf9had

S = F1 AE I oF S UERHg A L N @i (FeRead quis #)

[g=9.8 ms~?]

(]
F

M —

L LA S
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Chemistry Section A
Section Id : 864351219
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351219
Question Shuffling Allowed : Yes
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Question Number : 31 Question Id : 8643513271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A central atom in a molecule has two lone pairs of electrons and forms three single bonds.

The shape of this molecule is :
Options :

planar triangular
86435198&11.

8643519812, L -shaped

8643519813, CeSawW

9643519814, Tigonal pyramidal

Question Number : 31 Question Id : 8643513271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e 37V] F FeRld W] W S UHTH! SoiagM g7 & a91 98 o Uk SE- S ¢ | 319] i ST
£

Options :

8643519811. SriEnA

8643510812, | T

i [}

8643519813. e

8643519814, LSRRG

Question Number : 32 Question Id : 8643513272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A colloidal system consisting of a gas dispersed in a solid is called a/an :
Options :

8643519815, aerosol
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8643519816, selidsol

8643519817, oam

8643519818, 8¢

Question Number : 32 Question Id : 8643513272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Frensel frem fomd |, 2 o afifers 2t 2, 9 Fed 8
Options :

8643519815.

8643519816. ol

8643519817.

8643519818.

Question Number : 33 Question Id : 8643513273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The absolute value of the electron gain enthalpy of halogens satisfies :
Options :

8643519819, T > C1> Br>1

8643519820, 1> F >Br>1

8643519821, 1> Br>F>1

8643519822, 1> Br>Cl>F

Question Number : 33 Question Id : 8643513273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TSl & oy seraem wife T=edt 1 fede 5 faus G #a g, 9w e

Options :
8643519819, F>Cl1>Br >1

8643519820, 1> F >Br>1

8643519821, 1~ Br>F>1

[>Br>C1>F
8643519822.

Question Number : 34 Question Id : 8643513274 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The point of intersection and sudden increase in the slope, in the diagram given below,

respectively, indicates :

0
-100—
ACu + L6 2cu.0
-2001
O
QFEL
%l -Bm_ *].:FG-YD A‘D:_*DDE
o
= -400( =
i 5 ¥ 2C 2C +
g -500 7C i ‘JII“D 3 200
-
g 600 gzt
S 7001 ”
-800 Lal? O M
0.
800 a8
g, Lk
-1000— 'EME" +Os
-1100-
-1200—
| | | | | L L | l 1
osC 400°C so00°C 1200°C 1&600°C 2000°C
273 K 673 K 1073 K 1473 K 1873 K 2273 K
—— Temperature
Options :

8643519823, 2G <

0 and decc-mposition of the metal oxide
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I, } e 5
8643519824 AG >0 and decc-mpc-sﬂmn of the metal oxide

8643519825, AG =0 and melting or boiling point of the metal oxide

8643519826. AG =0 and reduction of the metal oxide

Question Number : 34 Question Id : 8643513274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Frefafaa fo= o wfr=ee fag 7o @i § = 9fs a9t &, Fo

0

g
I
o

——> AG"/kJ mol” of O,
S s & é:' €88 8 s
%
g

S 5] Q,Plao"’
Q7
= 438 9
o ~, Mgl
i o,
-1100F
-1200—
| 1 | | 1 1 1 | | 1
o= 400°C 200°C 1200°C 1600°C 2000°C
273K 673 K 1073 K 1473 K 1873 K 2973 K
—_— Temperature
Options :

2643519823, AG <0 TN HIg HATFHIES =l SATHT

8643519824, AG > 0 71 U1 SAFAIEES 1 ATHT

8643519825, AG=0 T4 Y1g HATFEIES =l AT AT FEYAH
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8643519826, AG=0 THI HIg STFAIES T AT

Question Number : 35 Question Id : 8643513275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The INCORRECT statement(s) about heavy water is (are)
(A) wused as a moderator in nuclear reactor

(B) obtained as a by-product in fertilizer industry

(C) wused for the study of reaction mechanism

(D) has a higher dielectric constant than water

Choose the correct answer from the options given below :
Options :
8643519827, (&) O

8643519828, (B) only

8643519829, (D) only

8643519830, (B) and (D) only

Question Number : 35 Question Id : 8643513275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I et & Hoe B TeAd w9 2/

(A) SHH STEM AfEg gl § des & =7 8 S 2|
(B) o2 3% FaM H SUIeaE % ®9 H 9 el 2|
(C) s&= 3uam sAfufwan franfafa & oo § +30 7
(D) 9 T S oI J HAfTF |

== fou 1 fasedi § 9 W& 39 90

Options :

(C) Fa
8643519827,

(B) e
8643519828.
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(D) &aa
8643519829.

(B) @ (D) Fad
8643519830.

Question Number : 36 Question Id : 8643513276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of conductivity of ions in water is :
Options :

8643519831, Cs* > Rb* >K* >Na*

a t b 3 o
8643519832, Na© > K¥ >Rb™ > (s

t o —~_ }
2643510833, K > Na® >Cs™ >Rb

8643519834, Rb* >Na* >K* > Li*

Question Number : 36 Question Id : 8643513276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sl H Sl 1 ATl 1 G %
Options :

2643519831, Cs' > Rb* >K* > Na*

Nat >K*>Rb* > (3*

8643519832,
&+ a1 —~_ b
2643519833, K > Na® >Cs* >Rb
Ebt* >Nat >K* > Lit
8643519834

Question Number : 37 Question Id : 8643513277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the fnllowf_ng compou nd CANNOT act as a Lewis base ?
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Options :

CIF
8643519835, 3

8643519836. s

8643519837. NF;

S'—l
8643519838

Question Number : 37 Question Id : 8643513277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F1 W frafafaa 9ifs Ted “R #1519 T8 F 959 ¢
Options :
8643519835, 13

8643519836. PCl5

NF,
8643519837,

SF4
8643519838.

Question Number : 38 Question Id : 8643513278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the spin-only magnetic moment value (BM) of a divalent metal ion with atomic
number 25, in it's aqueous solution ?

Options :

8643519839, -V

.
8643519840, -2

2
8643519841. s

8643519842, “°T0

38/87



3/17/2021

Question Number : 38 Question Id : 8643513278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sfveres G 25 % T HATSi 91g S19A =1, 39 Soid faerda | e 5[ g Aol & 96
(BM) 1 & ?

Options :

8643519839. P

5.26
8643519840.
8643519841, 22
8643519842, ~°°

Question Number : 39 Question Id : 8643513279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : Potassium permanganate on heating at 573 K forms potassium manganate.

Statement 11 : Both potassium permanganate and potassium manganate are tetrahedral
and paramagnetic in nature.

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

8643519843 Both statement | and statement 1l are false

643519844 Both statement 1 and statement 11 are true

3643519845 Statement I is true but statement 11 is false

8643519846 Statement I is false but statement 11 is true

Question Number : 39 Question Id : 8643513279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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= 1 A e B
FHIA 1 UefoEg wHETE, 573 K W T F4 W arefyem Fre fafad w2
T 11 refyEm THTE 991 defeam FE S 9quEesE E a9 ST YFa 5 2
SHE FIA & forg, ity A=d 9 A o ™ fowed 5 9 96
Options :

0643510843, P 1 T HAT 11 31 A €|

a4 C] e
8643519844, P 1 T RAT 11 SHI W g

97 | I & 791 HeF [l 376HF =
8643519845.

o o
cca3s1ogae. F | 3 e aa FAF Il 99 2|

Question Number : 40 Question Id : 8643513280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reducing smog is a mixture of :
Options :

8643519847, Smoke, fog and D3

8643519848, SOKe f0g and SO,

8643519849, Smoke, fog and N2C13

2643519850, ~moke, fog and CH,=CH~-CHO

Question Number : 40 Question Id : 8643513280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ATETEF H Fieq fagm T

Options :

8643519847, e FRSE SN S
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8643519848. T P R

8643519849. T, T Sy P

¥, Hed a4 CH, =CH —CHO |
8643519850. -

Question Number : 41 Question Id : 8643513281 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1:  Retardation factor (R;) can be measured in meter/centimeter.
Statement Il : R, value of a compound remains constant in all solvents.

Choose the most appropriate answer from the options given below :
Options :

3643519851 Both statement | and statement Il are true

Both statement I and statement 11 are false
8643519852.

8643519853 Statement 1 is true but statement 11 is false

2643519854, Statement I is [alse but statement 11 is true

Question Number : 41 Question Id : 8643513281 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
= 21 e e 7
FAT1:  HeF U (R P Hi/ F=HR F A9 T €
FATI:  TF A F R, AH T e | feor (3mm) =@ 2
4 fea foedi 9 & waiftys 3= I g

Options :

0643510851 I RI | T FHLF 11 T g

8643519852. R B - ¥
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oF | Ucd & T R 1 3HA ¢
8643519853. E e

T | AT & g FITI T 2
8643519854,

Question Number : 42 Question Id : 8643513282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the § nllnwing is an aromatic compnund ?

Options :

8643519855.

8643519856.

8643519857.

8643519858.

Question Number : 42 Question Id : 8643513282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frafafaa § ¥ FF @ Wafes AfTs 272

Options :
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8643519855.

8643519856.

8643519857.

)
B
Y
D

Question Number : 43 Question Id : 8643513283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: W
CH3 4 (Major Product)

Product “A” in the above chemical reaction is :
Options :
Br

8643519859.
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Br

CH,4
8643519860. CHy
Br
CH,
8643519861. H;
Br
CH,
8643519862. CH,

Question Number : 43 Question Id : 8643513283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A

" (e 3ere)

ST St | I “A” ©
Options :

8643519859.

CH;

8643519860.
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Br

CHs
H;
8643519861.
Br
CH,
CHj
8643519862.

Question Number : 44 Question Id : 8643513284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 OTNa™

+ NaOH

L

The above reaction requires which of the following reaction conditions ?
Options :

2

2643519863, 025 K, Cu, 300 atm

2643519864, 27> K Cu, 300 atm

o |
2643519865, 023 K, 300 atm

2643519866, /> K, 300 atm

Question Number : 44 Question Id : 8643513284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Cl O=NaT

+ MNalOH

L J

e Afuferan & fon fr=fafaa o 9 <9 9 sifufema fass o 22
Options :
45/87
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623 K, Cu, 300 atm
8643519863.

573 K, Cu, 300 atm
8643519864.

623 K, 300 atm
8643519865.

573 K, 300 atm
8643519866.

Question Number : 45 Question Id : 8643513285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mesityl oxide is a common name of :
Options :

. y - iy
8643519867, FMethyl pent-3-en-2-one

AN ¥ -
2643519868, 2 4 Dlmeth}l pentan 3-one

1N e
8643519869 - Methyl cyclohexanone

8643519870, 3-Methyl cyclohexane carbaldehyde

Question Number : 45 Question Id : 8643513285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Options :

49 J=-3-57-2-3
8643519867.

zr L xr ; o _3_ -
8643519868. 4 G el

2_\ e L WY
8643519869. His

3-Hfd AEadiedd FeEtfcease

8643519870.
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Question Number : 46 Question Id : 8643513286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hoffmann bromomide degradation of benzamide gives product A, which upon heating with
CHCl,; and NaOH gives product B.

The structures of A and B are :

Options :
0 0
3 _NH, ? :[\'II?_
Foe . CHO
8643519871. Br L
NH, NC
& -4
8643519872.
NH, NH,
8643519873, Br Br
NH, NH,
B e é/cno
8643519874

Question Number : 46 Question Id : 8643513286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ASTUAISE &1 EFHA AFMISE (A= TF 368 A 3 2, f9@ CHCL, 9 NaOH & 7T %3 ™
Ieq1E B fHerar %1 A 991 B =1 HT=AE €, WE

Options :
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8643519871 br br
NH, NC
Nelle
8643519872.
NH, NH,
B [::i::} -~ [::i::Jf,xCTI{)
8643519873, Br Br
NH, NH,
& o
8643519874,

Question Number : 47 Question Id : 8643513287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O

Ethylene Glycol A
i {

OC,Hsx .
ELF (Major Product)

The product “A” in the above reaction is :

Options :
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OH

P

O O

OCsoHsg

O
OH

8643519875.

8643519876.

//D

/ OC,rHs

OH

8643519877.

O
S
DCEI I5

8643519878.

Question Number : 47 Question Id : 8643513287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O O
JJ\/U\ . Ethylene Glycol
OC;H;5 - — > A
H (&g 3eTE)
ST AtAfE | e “A” 7
Options :
O O
OH
OCoH5

8643519875.
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e

O 0O
8643519876, OH

AN

OCoH5
\OI—I
8643519877,
0
>
OCoHg

8643519878,

Question Number : 48 Question Id : 8643513288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction is an example of ammonolysis ?
Options :

CHCOCI+C,H:NH, — 5 CH;CONHC_H;

8643519879. L b

CH.CH,CN _Hl , C H.CH,CH,NH
8643519880, © 2 2 ——— LehsbhLHNR,

8643519881. CeHsCHC1H NH; —— CgHCHyNH,

8643519882. CgHsNH, 19, CH;NH,Cl

Question Number : 48 Question Id : 8643513288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Frefafan # & =M =t sAfafwan T =1 St 872
Options :
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8643519879. CeHCOCI+ CgHNH, —— CH;CONHCH;

CHCH,CN _Ml . ¢ H.CH,CH,NH,
8643519880, : e

CH.CH,Cl1+NH, —, CH.CH,NH,
8643519881.

C.H.NH, HA  C.H.NH.Cl
8643519882, © 5 2 di o o

Question Number : 49 Question Id : 8643513289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

With respect to drug-enzyme interaction, identify the wrong statement.
Options :

Competitive inhibitor binds to the enzyme’s active site
8643519883, F )

8643519884, Allosteric inhibitor changes the enzyme’s active site

643519885, Allosteric inhibitor competes with the enzyme’s active site

8643519886, Non-Competitive inhibitor binds to the allosteric site

Question Number : 49 Question Id : 8643513289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Y -TAEH = 3R & Hey § Tetd Fee ufeantg |
Options :

8643519883, oqeff HeHeh, TAIsH 3 |ishd TAM H o7 Y ¢ |

§643510854 TARLIiF Heq, U=5H & 9iFd T § iadad =L <l ¢ |

8643519885, o T HeHe, U=H OiHa e 9 o99f T 2|

A1t Hauw, Tar=iiis 0 J 997 Ll ¢ |
8643519886. g
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Question Number : 50 Question Id : 8643513290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct structure of tyrosine ?

Options :
COOH
H,N %,DH
8643519887.
COOH
H,N H
OH
8643519888.
COOH
;N H
OH
8643519889.
COOH
H>;N H
OH
8643519890.

Question Number : 50 Question Id : 8643513290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 5 § & it e e F fo 'l R ?
Options :
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COOH

H,;N OH

&

8643519887.
COOH
H>N H
OH
8643519888.
COOH
H,N H
OH
8643519889.
COOH
H,N H
OH
8643519890.
Chemistry Section B
Section Id : 864351220
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5
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Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351220
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643513291 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The mole fraction of a solute in a 100 molal aqueous solution is  x10<
(Round off to the Nearest Integer).
[Given : Atomic masses : H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643513291 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

100 ATl wieitd faeaa § faeg =1 d9e-39 g X102 |
(FFen quii o)
[fean & : anfoaess defodi : H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513292 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The pressure exerted by a non-reactive gaseous mixture of 6.4 g of methane and 8.8 g of
carbon dioxide in a 10 L vessel at 27°C is ~ kPa.

(Round off to the Nearest Integer).
[Assume gases are ideal, R=8.314 | mol 1 -1
Atomic masses : C: 120 u, H: 1.0 u, O : 16.0 u]
Response Type : Numeric
54/87



3/17/2021

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513292 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6.4 g HIT TA1 8.8 g F1ET TEHEEITE & AT T4 A9 &7 27°C W10 L F o9 § o =

(Feheam o o)
[T =1 3TEyl 9 #lifeg, R=8.314 ] mol 1K !

qIfoa Hefeal : C: 120 u, H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643513293 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A certain orbital has n=4 and m; = 3. The number of radial nodes in this orbital is

. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643513293 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

wF it FE F fAaun=499m = 33| FwF w o ifemmadisigens___ |
(e i )
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643513294 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I and

The standard enthalpies of formation of Al,O, and CaO are —1675 k] mol
635 k] mol 1 respectively.

For the reaction

3Ca0 + 2A1 — 3Ca + Al,O, the standard reaction enthalpy A H?=

(Round off to the Nearest Integer).

K].

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643513294 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ALO, T4 CaO F fou w1 fo=m Tet € F¥9: — 1675 kJ mol ~1 @41 — 635 k] mol ! |
AT 3Ca0 +2A1 — 3Ca + ALO, F fau a9® wAfulean T¥edt AHO=_ K )
(Feemm quis H)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643513295 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The oxygen dissolved in water exerts a partial pressure of 20 kPa in the vapour above water.
The molar solubility of oxygen in water is %107 mol dm 3.
(Round off to the Nearest Integer).
[Given: Henry’s law constant = K;; =8.0 x10* kPa for O,.
Density of water with dissolved oxygen = 1.0 kg dm 3]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643513295 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T | el A=dieH, S F 30 919§ 20 kPa F1 A9F =14 o6l €| 9 § e F1 H5er
faeraa 2 %1075 mol dm~ 3| (Freeam Q= )
[(feme: &0 fam for® K =8.0x10% kPa (O, & fem)

A T s7d %1 77 = = 1.0 kg dm 3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643513296 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
0.01 moles of a weak acid HA (K, =2.0 x10 %) is dissolved in 1.0 L of 0.1 M HCI solution.
The degree of dissociation of HA is %10~ > (Round off to the Nearest Integer).
[Neglect volume change on adding HA.
Assume degree of dissociation <<1]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100
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Question Number : 56 Question Id : 8643513296 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

gHa 37 HA (K,=20x10"%) % 001 H@ #1 0.1 M HC1 % 1.0 L ¥ =ren ™0 € HA ¥ fag
oo == %1073 (frareds quis #)

[ HA & HaheH ¥ 309 31909 3 9REdq &1 707 JIH0 991 351 faaee 7 <<1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643513297 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15 mL of aqueous solution of Fe2t in acidic medium cnmpletel}-' reacted with 20 mL of
0.03 M aqueous Crzﬂf}_. The molarity of the Fe?t solutionis =10 2M. (Round

off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643513297 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Fe2* % 15 mL Seiid fae &1 siwefta wreas § qof sifuffan 20 mL, 0.03 M Sefd Cr,02~ 4 &
St | T | Fe2+ w1 Hiewan § _ x10-2 M| (Frream quis #)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 58 Question Id : 8643513298 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For a certain first order reaction 32% of the reactant is left after 570 5. The rate constant of
this reaction is x1073 s~L. (Round off to the Nearest Integer).

[Given : log,2=0.301, In10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643513298 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

s fAfyea vaw wifz %1 sAfafwma & sfafemas &1 570 s 999 32% 99 F=9q1 21 Af9fwan &1 <
fraais & x10-3 s~ 1| (FFpeaq qui= #)

[fea % : log,2=0.301, In10 =2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643513299 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The reaction of white phosphorus on boiling with alkali in inert atmosphere resulted in the
formation of product “A’. The reaction of 1 mol of “A” with excess of AgNO, in aqueous
medium gives _____ mol(s) of Ag. (Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100
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Question Number : 59 Question Id : 8643513299 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

YA FERRE F1 &R & 1Y UF T e | 390 W UE 59 A’ ffEa e AT F
1 mol &1 AgNO, F Afuad & weig A1ean § Afaforan St € Ag & #Hia|
(eemm quis o)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643513300 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,

HNO,
H,50,

i
-

In the above reaction, 3.9 g of benzene on nitration gives 4.92 g of nitrobenzene. The
percentage vield of nitrobenzene in the above reaction is __ _%. (Round off to the
Nearest Integer).

(Given atomic mass : C:12.0u, H:1.0 u, O:16.0 u, N : 14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643513300 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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NO,
HNO;
H,50, =

IYAIER AR H 3.9 g Sl I AGEIM 4.92 g A= <l & | ATl I efe Sl Fiewraa
I Al H® % | (Fheaw i #)

(fea & anfoes Hefadi : C: 120w, H: 10w, O:16.0u, N:14.0u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351221
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351221
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643513301 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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In a school, there are three types of games to be played. Some of the students play two types
of games, but none play all the three games. Which Venn diagrams can justify the above

statement 7

P Q R
Options :

8643519901, I and Q

8643519902, | and R

8643519903, 2 and R

8643519904, LNone of these

Question Number : 61 Question Id : 8643513301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T Tl H dF TE F Tel Wl 914 ¢ | F8 914 31 72 F Wd Weld ¢, g FIE o gt 97 |G 72
el | TS HYE Fl HH U =39 A =90 7

DWW

Options :

P a9 Q
8643519901,

8643519902. i
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8643519903. IR

8643519904. T A AT

Question Number : 62 Question Id : 8643513302 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The area of the triangle with vertices A(z), B(iz) and C(z +iz) is
Options :

B =
-3
-
it ]

8643519905.

b | =

8643519906.

| i

8643519907.

8643519908. :

Question Number : 62 Question Id : 8643513302 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

34t A(z), B(iz) 91 C(z + iz) =1l A9 =1 &%t € ;
Options :
y
; Z {22
8643519905, ~
1.5
'j- &
8643519906, “
3
?
8643519907, 2

8643519908. :
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Question Number : 63 Question Id : 8643513303 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. (0 Sinee | ; (5 1 ) i
If A=) . and det | A —I | =0, then a possible value of « is :
| sinc 0) | 7

Options :
w

8643519909, *
-
3

8643519910.

B

8643519911, ©

SIEN

8643519912.

Question Number : 63 Question Id : 8643513303 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=t . 1] sinoe | ' (a5 10 s ; ?
e A= | a9 det | A —Mﬂﬁﬂ@ﬂ%mﬁm%
| sinao 0) | 23

Options :

NE

8643519909.

'__,_}l-_'l

8643519910.

E

8643519911, ©

IEN

8643519912.

Question Number : 64 Question Id : 8643513304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The system of equations kx+y+z=1, x + ky + z=k and x + i + zk=k? has no solution if k is
equal to :
Options :

8643519913.
8643519914.

8643519915.

8643519916.

Question Number : 64 Question Id : 8643513304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Wﬁ%ﬂk:{ly tz=1,x+ky+z=kddMx+y+ zk=kzﬁﬁﬁqﬁ%ﬂﬁkw_%:

Options :
8643519913, ©
8643519914, 1
8643519915, |
8643519916,

Question Number : 65 Question Id : 8643513305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Team “A’ consists of 7 boys and n girls and Team ‘B’ has 4 boys and 6 girls. If a total of 52

single matches can be arranged between these two teams when a boy plays against a boy
and a girl plays against a girl, then n is equal to :
Options :
¥
8643519917. <

8643519918. E
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8643519919. 3

8643519920. g

Question Number : 65 Question Id : 8643513305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M A’ H 7 TSh T4 n TEHAT € 991 9B H 4 7IsF a1 6 TSfwal 8| A 59 91 I8 & 9" o
52 UFe HE AR Y <1 9 €, 59 T a9SF], UF AoF & (996 Godl & a1 UF asH, Th
aﬁ%ﬁmﬁﬁﬁ%ﬁnw%

Options :

R

8643519917.

.

8643519918.

o

8643519919.

o

8643519920.

Question Number : 66 Question Id : 8643513306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the fourth term in the expansion of (x 11082 %7 js 4480, then the value of x where x € N is
equal to :

Options :

8643519921, 1

3
8643519922, ~

8643519923. 3

8643519924. :

Question Number : 66 Question Id : 8643513306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
T (x+ 2082 ¥ F YR F AN IS 480 F, Tx (xe N) FHAAE :
Options :

8643519921, 1

2
8643519922. ~

8643519923. 3

8643519924. =

Question Number : 67 Question Id : 8643513307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
The value of 4 4 ] is :
5 4 g
4 :
5 4
4+ ... s
Options :
g S e -}
8643519925,
2+ 30
8643519926. V5
5+ 2./30
8643519927. 2
.
4 -ﬁgqj3n
8643519928. v

Question Number : 67 Question Id : 8643513307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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4 4 : FIHAAT
5 1
1
14 .
5 4
4+ ... o'
Options :
; o)
2 + =30
8643519925. 5
2+ % /30
8643519926, V5
5+ 2430
8643519927. 5
4
4 4 I_gqu
8643519928 v

Question Number : 68 Question Id : 8643513308 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If cot~1{a)=cot~12+cot~18 +cot~ 118 +cot~132 +..... upto 100 terms, then « is :
Options :

8643519929, 1-00

8643519930, 1-01

8643519931, 102

8643519932, 1-03

Question Number : 68 Question Id : 8643513308 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g cot ") =cot “12+ cot " 18+ cot " 118 + cot “132 + ... 100 W& W, A o T T :
Options :
8643519929, 1-00
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8643519930, 1-01

8643519931, 1-02

8643519932, 1-03

Question Number : 69 Question Id : 8643513309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The inverse of yy=>5'8" is :

Options :
1
T ]”Ef'.'r
8643519933, © 0
i
s 'lJ"]UES
8643519934, :
x = 5logy
8643519935.
X =],I’]DES
8643519936.

Question Number : 69 Question Id : 8643513309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y =5logx =i Wl T :

Options :
1
x =5°9%Y
8643519933.
i
o _u]tJES
8643519934, :
= 5logy
8643519935,
X :y]c)ES
8643519936.
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Question Number : 70 Question Id : 8643513310 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
PR R REeeC RN
os \x—|[x sin” |x — [x
lim f 1x] . 2] , where [x] denotes the greatest

The wvalue of e : _
X —X

integer = x 18 :
Options :
=
4
8643519937.

8643519938, U

NMER

8643519939.

8643519940.

Question Number : 70 Question Id : 8643513310 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Y i 12

X o A - c 3 3
) - sin W = ) i () e i < 2 8, T AR E

3

lim L‘L‘IHml [.l'
'+
x— x X

Options :
=
4
8643519937.

8643519938, U

SIER

8643519939.

8643519940.

Question Number : 71 Question Id : 8643513311 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements is incorrect for the function g(«) for « € R such that

H sin®x
(a) = 5 o
2 i cos®x + sin®x
Options :
8643519941 g(w) is a strictly increasing function
8643519942 g(w) is a strictly decreasing function
1

g(a) has an inflection point at « = =
8643519943.
8643519944 g(w) is an even function

Question Number : 71 Question Id : 8643513311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sin“x

e gla) = dr, a e R % foru f1 & 9 =9 &1 &g 3 8 7

cos™x + sin®x

"_‘:~|.—] l._r.e|.—:|

Options :

5l iiﬂ'ﬂl '; mﬂq
8643519941, Sl &% T T ¥

o(a) TF TR FEAE Fer §

8643519942, °
. l - i~ T L]
g(0) I & = — o T Al e g @
8643519943,
g() TH TH Tl &
8643519944

Question Number : 72 Question Id : 8643513312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following is true for y(x) that satisfies the differential equation
.dy
d_l.
Options :

=xy—1+x—y;y0)=0:

(ST

8643519945.

8643519946.

8643519947.

8643519948, V(1) =1

Question Number : 72 Question Id : 8643513312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y{xj,ﬁ-ﬂﬁﬂmﬁw%ﬂy 1+x—y;y(0)=0F I & g, & fau fm i Fazm

qq8?
Options :
' i
Bl = Tid
8643519945.
' 1
(1) = el 1
8643519946. y()
1 -1
y(1) = e- g -
8643519947. y(1)

8643519948, V(D=1

Question Number : 73 Question Id : 8643513313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In a triangle POR, the co-ordinates of the points P and Q are ( — 2, 4) and (4, —2) respectively.
If the equation of the perpendicular bisector of PR is 2y — y+ 2=10, then the centre of the
circumcircle of the APQR is :
Options :

8643519949. (1, 4)

8643519950. . 2)

(-1, 0)
8643519951,

{ 2

'

I3
o

8643519952.

Question Number : 73 Question Id : 8643513313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TFh ﬁ'l"ﬁ POR H, ’l%lgaﬁ P a9 Q & fAewns F99: (-2, 4) 991 (4, —2) F1 gfz PR & &=
Tl 1 THFW 20—y +2=0 8, T APQR F TRgd #1 F= 2 :

Options :

8643519949. (1, 4)

8643519950. . 2)

(~1,0)
8643519951.

o

(-2, -2)
8643519952.

Question Number : 74 Question Id : 8643513314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The line 2x —y+1=0 is a tangent to the circle at the point (2, 5) and the centre of the circle

lies on x — 2y =4. Then, the radius of the circle is :
Options :

53

8643519953.

8643519954, V4
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8643519955, 4V5

afE
8643519956, V2

Question Number : 74 Question Id : 8643513314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TF g9 F &g (2, 5) T OI9 T A FHE 2 -y + 1=0 F 9 g9 H FE Wa -y =4 W
Eﬁﬁﬂﬁl’ﬂ%:

Options :

53

8643519953.

8643519954, V4

8643519955, 4V5

a5
8643519956, V2

Question Number : 75 Question Id : 8643513315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about the two circles whose equations are given below :
x2+y*—10x 10y +41=0 and

x2+y?—16x— 10y +80=0

Options :

8643519957, Circles have two intersection points.

2643519958 both circles pass through the centre of each other.

8643519959, Both circles” centres lie inside region of one another.

Distance between two centres is the average of radii of both the circles.
8643519960.

Question Number : 75 Question Id : 8643513315 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

x2+y2—10x — 10y + 41=0 a4
x2+y?—16x— 10y + 80=0
Options :

8643519957. e ﬁg ¢

S I U gE T R 9 B 9

8643519958,
29 79 F = [ 3 S 9 H e
8643519959 ™ b
<1 =i % =19 F1 L 21 gl HI s w1 EE
8643519960, ~

Question Number : 76 Question Id : 8643513316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of the plane which contains the y-axis and passes through the point (1, 2, 3)

15 :
Options :

8643519961, X tz=6
8643519962, X T3z=10

8643519963, ¥ +3z=0

8643519964, ¥ ~z=0

Question Number : 76 Question Id : 8643513316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
faig (1, 2, 3) | T T A T, FormH y-31e3 Teorg &, o1 e €
Options :
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8643519961, X 1z=6

8643519962.

8643519963.

8643519964, %

Question Number : 77 Question Id : 8643513317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[f the Boolean expression (p = q) < (q = (~p)) is a tautology, then the Boolean expression
p * (~q) is equivalent to :

Options :

=

|
8643519965.

.
8643519966. 2 :

s

8643519967. 17 P

8643519968, 1 F

Question Number : 77 Question Id : 8643513317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

qﬁqﬁ’qmw = q) = (q = {L’—[_ﬁfjfjﬁw%, ﬁ%ﬁ@ﬁp * (~q) ﬁh‘-‘q%ﬂm%a
Options :

=

e |
8643519965.

L o
8643519966. : .

s

8643519967. 17 F

8643519968, 1 P

Question Number : 78 Question Id : 8643513318 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a =2i ~3j +4k and b =7i + j — 6k.

frxa=1rxb, r l; |2'J;'. | k = —-3,then r - 2';'. ’5; | }_isequaltn:
Options :

8643519969. 8

8643519970. 10

8643519971. 12

8643519972, 12

Question Number : 78 Question Id : 8643513318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al a =2i ~-3j +4k @M b =77 + j — 6k T
Arxa=rxb, r-li+2j+k=-3Ed 1-(2i-3]+k TRE:
Options :
8643519969. 8

8643519970. i

8643519971. —

8643519972, 13

Question Number : 79 Question Id : 8643513319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two dices are rolled. If both dices have six faces numbered 1, 2, 3, 5, ¥ and 11, then the

probability that the sum of the numbers on the top faces is less than or equal to 8 is :
Options :

77187
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5
12
8643519973,

O |

8643519974.

17

8643519975, 36

b |

8643519976.

Question Number : 79 Question Id : 8643513319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
<1 T e 9 &1 afe < Il 3 9 96l (faces) W Sifwd HEAE 1, 2,3,5, 7 A 11 €, A IR E
Tl W WS T AT S 1 ArTRe < 8 B i Wi €
Options :
o

12
8643519973.

.

8643519974.

17

8643519975, 36

b |

8643519976.

Question Number : 80 Question Id : 8643513320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- \| = tan llrf—lw is :
.31

i
The sum of possible values of x for tan l(x + 1) + cot 1| 3
WX 7

Options :
33

8643519977. 4
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32
8643519978.
31
4
8643519979.
30

8643519980. 4

Question Number : 80 Question Id : 8643513320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f l A f 3 A = = - s = o)
tan"'(x + 1) + cot ™" _|=m1WE¢$ﬁmx$Hmﬂmﬁﬂmwm%:
X b )

Options :

33
8643519977. 4

. 74
8643519978. %

31

4
8643519979.

ﬂ
8643519980 4

Mathematics Section B

Section Id : 864351222
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
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Sub-Section Number : 1
Sub-Section Id : 864351222
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643513321 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The maximum value of z in the following equation z=6xy +y?, where 3x +4y = 100 and
dx+3y =75 forx =2 0andy = 0is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643513321 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

z=6xy +y> T ATYHTH AF, F9 fF 3x+4y = 100 MM 4x+3y = 75, x = 0,y = 0 g, %
I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643513322 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g % : P
If A= [;} '1] , then the value of det(A%) + det|A10—(Adj(2A) ]1{}} isequalto
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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Question Number : 82 Question Id : 8643513322 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

afg A=
{u

j 2, @ det(A%) + det(A10—(Adj(2A))"°) F1 TH TR E
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513323 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If (2021)*762 is divided by 17, then the remainder is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513323 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(02172 F1 17 W fauifod FA RITFA E |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643513324 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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cos(sinx) — cosx
_1’4

If the function f(x)= is continuous at each point in its domain and

f0)= L, thenkis
k

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643513324 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ife T f(x) = Cm{smi O | A9 Wid *F Gedsh faig W Had & a4 £(0) =%%,ﬁ1kzma1%r
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643513325 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If [ - ] represents the greatest integer function, then the value of
s

I[[IE] cnsx} dx| is

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 85 Question Id : 8643513325 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

vV
FfE [ - | HE9H YOI Fead il <901 8, ol [[[xz] cn:a«r}dx FHAAE
0
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 8643513326 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The minimum distance between any two points P, and P, while considering point P; on one

circle and point F'2 on the other circle for the given circles’ equations
x2+y?2—-10x— 10y +41=0
x2+y?—24x 10y + 160=0 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643513326 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

s

kAl

x2+y?2—10x - 10y +41=0 T

x2 +y?—24x - 10y +160=0

¥ fer afg fag P, we 99 W # au fag P, g6t gu W 7, @1 fagadi p, a1 P, & =g %t FAaA g 8
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 87 Question Id : 8643513327 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f the equation of the plane passing through the line of intersection of the planes
2x -7y +4z-3=0, 3x—-5y+4z+11=0 and the point (-2, 1, 3) is ax + by +cz—7=0, then
the value of 2Za+b+c—7 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643513327 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-,

Tfg AT 2x — 7y +4z —3=0, 3x— 5y +4z + 11=0 Hl Yfaeded @ a1 fag (-2, 1, 3) ¥ B

S 96l WA H THE ax+by+cz-7=0% W2a+btc-7HMATE |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513328 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let there be three independent events E;, E, and E,. The probability that only E, occurs is o,
only E, occurs is § and only E; occurs is y. Let “p’ denote the probability of none of events
occurs that satisfies the equations (a—2p)p=«afp and (B —3v)p=2py. All the given
probabilities are assumed to lie in the interval (0, 1).

Pr obability of occurrence of Eq

Then, is equal to

Pr obability of occurrence of Eq

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513328 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A E,, E, 791 E, %05 9274 €| ad £, % dfed 84 %l Mgl o 8, %ae £, % 9ied 81 3
WA 3 F A Fael B, & =fed 2 F1 Wl y &1 A T o g2 % 7 727 & wawa p g,
ST FEEFN (o 2B)p=af TN (B —3y)p =28y F TG F &1 B <t TE WA e
(0, 1) HEI T
E, & dafed 29 & Wifasd

E, & ®fed 2 =l Jiigsdal

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643513329 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-y
1 211.
CcOs

i AT , ¢ B
1122 and its first derivative with respect to x is — —log, 2 when
2 a

4 /'J

If f(x)=sin

5 £ = ) ) s
x=1, where a and b are integers, then the minimum value of |a~— b~ is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643513329 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

¥ r_l ,}hw

afe f(x) = sin| cos ™"

1055 o T 6 T T S Dlog, 2 Ewmx=1%,
\ J) a

el a d9Tb YUk B, A1 a2 - b2 WM FTEe A Y|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643513330 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e

If a =ai +Bj +3k,

b = [:H rx._;‘: L and

&= Z;r k
chthat a - b =1and b - ¢ 1 i
such that a - =1 and b - ¢ = -3, then :-,[{a » bl | isequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643513330 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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iy A A A
C

3
C

s fma b=19Tp -

Response Type : Numeric

3 EAL(7,p). o) e

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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